SuMPO SuMPO EPD SUMPORIEININTOI S s

E p D _ — MR EEAY AT T IR E HEEEAE
.o H4TNBIBEETE (EPD) T E XA 1-14-8
VBB SR KANDA SQUARE GATE
E8HES © JR-Al-25429E https://ecoleaf-label.jp

FUJIFILM

Value from Innovation

BTTAVL ETRZX A/R=-YaUHAEH]
FUJIFILM Business Innovation Corp.

A3 S —1EEH
A3 Color Multifunction Printer

-3 Apeos C2560 (Model-CPS-B)
(for US)

FUJIFILM

Apeos. Apeos 07, ApeosPro. ApeosPort . 8&U ApeosPrint (& ELIMIVAESRRA IR R HOEREREEEIZETT .
Ef&(Z[ Apeos C30601TIH, EBR(E[Apeos C2560] LENFENTLET,

HEHNL ERES JR-AI-25429E
851 A5 EAPCRES  pA-590000-Al-08
PCR%& ERAH O HER
HE X SRR YNEI=| 2026538130
| j=#d) e e 8f REAEATEE 2026428248
OFREMKRE QLE @il OFER - i REEAR YATLEREEA K
GBRE-UYM1I REES 2025-FB-EL-097
REFEZNEAR 2031428230
HROBK, TELK-#ET PCRLE1-DEE
B ! Apeos C2560 (Model-CPS-B) SEHE 2023498 1H
FEMR  N5-EEHE EPAR) EEE Mz 22
FIREE : £/70 25ppm (A4 LEF) (FFE — R EIE AV AT IR S )
A5 25ppm (A4 LEF) B=EHWRIE: BEHETF
BAAEYAZ : A3, 11 x17" NERIREES
POVAVAIETrES ISO14025(Z 5> AT & R UT—F Oz LIA&EE
FE T ED Rl # BE /ADF (R e B Bh&esAd) CIAER WA EB
*YRATLhRREZ TR EEANDRIEDHZE L. VAT LRI ETEEESD
LT,

BMughtshe BEIAMIWAESRAALAINR—3>kiatt
EaEmAXAHREHFS 6T HIE
https://www.fujifilm.com/fb/

E5ES © JR-AI-25429E


https://www.fujifilm.com/fb/
https://ecoleaf-label.jp

SuMPO SuMPO EPD SUMPOREESANITOIT A

E p D b — AL EEAY AT H IR EHEE
Ap=r F14TNBEREE (EPD) HRET R EE PR 1-14-8
LS IR D KANDA SQUARE GATE
EHRES JR-AI-25429E https://ecoleaf-label jp
1TV VIV EFMmER
s . . fEF - HEFF
BRI AERRE | BUSERRE TR e BEEEER B
SUREE) - &5 kg-COzeq 4.72E+02 2.63E+01 1.05E+02 1.34E+02 7.99E+01
AV EHIE kg-CFC-11eq | 4.00E-05 4.28E-08 1.73E-08 2.61E-06 9.91E-09
EXREL kg-PO43-eq 9.95E-03 1.03E-03 8.21E-05 3.68E-03 9.15E-05
[i7qc 2|4 kg-SO2eq 1.37E+00 1.73E-01 1.24E-01 4.75E-01 7.91E-02
HALREAFII U kg-CzHaseq 9.87E-03 3.15E-05 8.30E-04 1.24E-03 6.61E-04

F1THLIIWAIRY B 3 IRESE R R

—REBRDERICET2151Z
o . . R - HER
FRRFERR | LSRR TRIBERRE 2 E"K:‘ 5 FEZEERBE
"X

BHATRE—RER - IRIF- (RPRy) MJ 1.04E+03 2.19E+02 4.71E+00 4.62E+02 3.01E+01
BAETE—RERE - IRVE-2EHE (RPRy) MJ 1.03E+01 3.66E-03 1.09E+02 6.52E+02 6.58E-03
FEBAAIBE—RER - TRIF— (NRPRp) M) 7.85E+03 8.97E+02 1.17E+03 2.64E+03 4.04E+02
FEBEATE—RER - IRVE-EHBME (NRPRy) MJ 1.05E+03 2.78E-01 2.66E+00 2.07E+02 6.36E-02
HKKDEEE m? 2.71E+00 2.27E-02 1.15E+01 6.87E+01 5.77E-03

HEREICETZEMIER
KEZEERIIGRELTEELELE,
EABEPHR)DIZERYFUATEELTVET,
‘B ROREFEABBESERTT,
-(E - MBS LB RENRIBROBTEIEENE A,
FEARKOENE. IRVF-R9-T0Y5LVer3.2 (SR> TUELLTECHEEZ TICEELELE,
R EENRIFER (S, 90,0008 T
1/4 x 25 (J37/B8) x 12(#) x 5 (A) x 4 (B) x 12 (7 B) x 5 (£) = 90,0004

Z Db DIRIEFDEIEIR
IRINF-R9-T0Y5LVer3.2 BE,

MRBSUMEICRY 8RS FEVEICETSIER

H-mE (ERES) BT ER CAS No. ENE
Bl 27 kg - - —
sus 0.20 kg - _ _
TIVIZOh 14 kg
Z0MtERE 5.6 kg FEALEZRT-IDEZH
T35 27 kg | |REMM, LOF-5IN-IDEA Ver3 4, SUMPOBEINIL TOITLEHT—5
di 0.38 kg Ver1.16&EALTVET,
52 1.8 kg
A 60 | ks
SEE AR EAR 1.8 kg -
page it 3.1 kg
Z0ft 2.6 kg

@T-YEEDH L. PCRELUEE - ESHEESHBL TR,
OLLRIOVTR, BE - EERBICREINLRGLRLLIISEICLIARYONEEA,
(BEBSURL : https://ecoleaf-label jp/regulation/)


https://ecoleaf-label.jp/regulation/
https://ecoleaf-label.jp

